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1) (4 points each) Simplify:

a) tanx(tanx+ cotx) by — 20X
N tanx +cotx
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2) (4 points each) Find the exact value of cosl—w— using the given methods.
a) A Sum or Difference Formula: b) A Half Angle FormulaT:
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¢) Using your answer from either part a or b above, explaihtow you can find the exact value of

cos| 13T by using Z as areference angle:
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3) (5 points each) Simplify: B §im
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4) (5 points each) Given cosf = -27—5 , where 0 is in Quadrant IV, find the exact vah-;es for...
a) sin(26) b) cos(20) = gc’fl G - S'RL'H'
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¢) tan (29) d) The Quadrant where 26 resides. Explain why:
W26 —339/(01,» | Sll/ﬂ,ﬁ < Q
- P . v )
G516 —$2( Ly (JDJV),@"O
ém +Ee 2 O
= ﬁkﬁ. "
S
5) (6 points part a, 9 points part b) Prove the following identities:
a) tan’0sin’0=tan’6+cos’0—1 b) 4cos® x—4+sec’ x=cos’ x—2sin’ x+sin® xtan® x
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6) (4 points each) Find the exact values or explain why it does not exist:
b) cos(cos‘l (- 1.1))
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C) cos l{COS —21 d) sin[sin"[—%]—cos"[———\é—g]]
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7) (6 points each) Solve for the variable: (f Xﬁ §\ &f- _X ’\> ‘ / b
a) cos’x—1=0 (Hint: You need ak) b) sin(2x)= 7 on [0,27) —
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9) (2 points) Explain why we restricted the domains of y=sinx, y=cosx,and y=tanx in this

&
*Write the domain restrictions for these three functions.
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Simplify: —sin [—é-— a]sin(% + a} + cos[% - cx] cos [:g- + a]

A

ar— < w—

g

Extra Credit:
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